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| ADC (PMTID=131) | | North side PMT vs South side PMT (BOXID=74) | hist_NvsS_73 rebin
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| ADC (PMTID=138) | | North side PMT vs South side PMT (BOXID=75) | hist_NvsS_74_rebin
r = Mean x  141.2
9, LN = . Meany  148.8
LA — 0700 = _ " mm|RMSx 1468
10°EfY PMT North(D=138)| & T e Re e
_ > r - 10°
|_
—— PMT South(ID=142)| %
2 G.’
10 = '5_’)
- =
- =
- o
| (92]
10 =
1 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1
0 100 200 300 400 500 600 700 800 200 300 400 500 600 700
ADC(post)-ADC(pre) [ch] North Side PMT's ADC [ch]
| ADC vs TAC (PMTID=138) | North hist_ADCVSTAC_138_rebin | ADC vs TAC (PMTID=142) | South hist_ADCVSTAC_142_rebin
Entries 18316 Entries 18664
Mean x 113.4 = Mean x 114
= Meany  356.4 |, o Meany  347.3
e - - " |RMSx 1386 - RMS x 139
= RMSy 175 RMS y 163
10°
[
10
11 ] | I 11 ] | I 1 11 | I 1 11 | I 11 1 | I 11 1 | I 11 1 | I 11 1 | ) I ) I 11 ] | I 11 ] | I 11 ] | I L1 1 | I L1 1 | I L1 1 | 1

100 200 300 400 500 600 700 100 200 300 400 500 600 700
ADC(post)-ADC(pre) [ch] ADC(post)-ADC(pre) [ch]



| ADC (PMTID=139) |
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| ADC (PMTID=146) |
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| ADC (PMTID=147) |
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| ADC (PMTID=158) | | North side PMT vs South side PMT (BOXID=79) | hist_NvsS 78 _rebin
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|_ADC (PMTID=155) | | North side PMT vs South side PMT (BOXID=80) | hist_NvsS 79 rebin
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